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7.2 Warm Up (and Review) Date Period

Solve each system by substitution. Check algebraically.
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3) Amy's school is selling tickets to the annual talent show. On the first day of ticket sales the
school sold 1 adult ticket and 6 student tickets for a total of $23. The school took in $17 on the

second day by selling 1 adult ticket and 4 student tickets. Find the price of an adult ticket and the
price of a student ticket.
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Solve the system by graphing; Then check the solution algebraically.
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Sketch the solution to each system of inequalities. Mark the solution region with an arrow. -
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